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Vertical Washers: Volume = Iﬂ(RZ (x)-r? (x)) dx @
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1. The region bounded by the f:urve, y=x"+1 ar.ld the: line,y =—x+3,
is revolved about the x —axis to generate a solid. Find the volume.
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2. The region bounded by the parabola, y = x% and the lineyy = 2x ,in the first quadrant

is revolved about the y — axis to generate a solid. Find the volume.
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3. The region between the parabola, y = x*> and the line y= 2x,in the first quadrant 2

is revolved about the Iineé__:_% to generate a solid. Find the volume. Z:’\
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